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AR se)|a SN SABATA
M sNE JIB0I8 & A43Hg
o9l SA2 JIZAE Y (i = 9l)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
OLEAE =492 442 2 FUAEE
= 8,400
202 04| 1,000 1,000
01 =WHO4HI 1,000 1,000
OAHPHRFA 1,000
207 AR | 30,310 30,310
03 Al& 2| 30,310 30,310
ogsdx A8 ANY & =X+ Y S 30,310
KNGS 2N (NSEEES 0188 |6 100,000 100,000 0
AZs g H2)(=21)
s 50,000
= 50,000
101 eI244| 27,000 27,000 0
s 13,500
== 13,500
M IRINZ2ENSES 27,000 27,000 0
OHRAEX 21,506
s 10,753
& 10,753
OHERHZ 5,4%
s 2,747
= 2,747
201 Ler23Ad| 12,500 12,500 0
s 6,250
== 6,250
01 At22telt| 12,500 12,500 0
O=2= I8 24 =32 L FHIMEZ 7,500
s 3,750
& 3,750
o= 2H S3SF, YA S 5,000
s 2,500
< 2,500
202 04| 4,000 4,000 0
s 2,000
= 2,000
01 =WO4HI 4,000 4,000 0
OHPYREX 4,000
s 2,000
& 2,000
207 AR 56,500 56,500 0
s 28,250
& 28,250
03 AlE 2| 56,500 56,500 0
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AR S| SN sAETA
M sNE JIB0I8 & A43Hg
SRl mAR JlDAE HY (ol &)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
Oo=2== I3 Az € Az 7Y S 36,500
s 18,250
& 18,250
OS24 JIs ASEIIN & 2lg Y S 20,000
s 10,000
= 0,000
NISSRSI| SN (ZQUT LEIBIIE L 23| 9,000 90,000 0
E AE HE)(21)
s 45,000
& 45,000
101 I244| 27,000 27,000 0
s 13,500
& 13,500
M IRIMZ2ENSES 27,000 27,000 0
OHREX 21,506
s 10,753
== 10,753
OHEREZ S 5,4%
s 2,747
& 2,747
201 et 3| 15,000 15,000 0
s 7,500
= 7,500
01 At2teltl 15,000 15,000 0
O4H EE2AE EHl, 248 =2 S 5,000
s 2,500
= 2,500
O/ LIIE AIHE HE S 10,000
s 5,000
& 5,000
202 04| 1,000 1,000 0
s 500
= 500
01 =WO4HI 1,000 1,000 0
OAHTHRFA 1,000
s 500
= 500
207 AR Y| 47,000 47,000 0
ay 23,500
& 23,500
03 Al&l 2| 47,000 47,000 0
OMNESAE 288 A, =X 2L 25,000
s 12,500

- 1053 -




a2 ez SN SABATA
M sNE JIB0I8 & A43Hg
Ol A2 JIZAE HY (ol &)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 12,500
QAT EEAE AMg ¥ 2ME 72 S 22,000
s 11,000
& 11,000
A3 sitE =43 Y 67,500 80,000 A12,500
201 B2 3AY| 20,000 40,000 A20,000
01 AtR2eltl 20,000 40,000 220,000
OR=4dz 242 Y 37 HEH= JIJIAM
22 = 20,000
202 Odt| 2,500 3,000 A500
01 =04 2,500 3,000 A500
OAHPHRFA 2,500
207 AR 45,000 37,000 8,000
03 Al&l 2| 45,000 37,000 8,000
O 37 SHIIIB ALY Y S 45,000
NS EI=20| 2N (D2ILX] 2T LHelstE 918t 120,000 80,000 40,000
2 AEs H2)(=21)
s 60,000
= 60,000
201 Ler23A| 19,000 29,000 10,000
s 9,500
== 9,500
01 At22telt| 19,000 29,000 10,000
OZA &3st 24 =3 L THIMEZ
S SE S 9,000
s 4,500
& 4,500
OZA &3 AIHE HE S 10,000
s 5,000
= 5,000
202 04| 1,000 1,000 0
s 500
& 500
01 =LH4b 1,000 1,000 0
OARHRFA 1,000
s 500
& 500
207 AN 100,000 50,000 50,000
s 50,000
= 50,000
03 AlE 2| 100,000 50,000 50,000
OZA &3st 248 Al Y =X 7L 50,000
s 25,000
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AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
O=4A| 140,0002 128+ 123 20,160
OuEH| 100,000& 12+ 123 14,400
ONs=g 6,240
i BN, 40,0002 +6H* 128 2,880
-SLINE 20,0003 x8H 123 1,920
-SMXHA 60,000 x2H 123 1,440
OARteIRR4Y
11,8633 »150%+ 125 +8A| 2+ 12 20,500
Otz asiteg
A, 9043+ 1258, 141 9,272
34 HAZRESS 49,439 87,147 A37,708
04 SRA(RIAHL) 22X BEE22H2 S 49,439 21,009 28,430
OH3=REZ 441,410,0002 *4. 5% 19,864
O=0HLEE= 441,400,000 *4% 17,656
oNEsEE=RYE3s 11,919
(@NE=3)= 441,400,0002 *1.8% 7,946
O&TEE 441,400,0002 +0. % 3,973
JlE23al 16,687 22,211 Ab,524
2A29E Jl2Z] 16,687 22,211 Ab,b524
201 L2 H| 8,373 12,249 A3,876
01 Ar2eltl 7,873 11,749 A3,876
ORNZE AtR2eltl 7,873
02 33244l 500 500 0
FA2E 2322H| 500
202 04d| 2,3% 3,762 A 1,368
01 =WOdLI 2,3% 3,762 A 1,368
FAEZ UL 2,394
203 R F&| 5,920 6,200 A280
02 R FAIL| 1,120 1,280 A160
OFAIZ 40,000 x28Y 1,120
M FA2ILFFALI 4,800 4,920 A120
@312l 0|4 400,000 * 12& 4,800
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